O 00 N O O B W N =

W W W W W W NN NN N MND NN NN P P P2 PR R
gl AW N PE O W 00NN O W NNk, O 0N O N kO

Kaf: w71y 7 ARTARES
B 2024/2/11(R)

PR P ERE! K4 i iE F i %

7F 50m BHE FO FMES |1 rwovwmEasre| T 0:43.60
ZF 50m BRI H)| ®E |1rvowEasre| T 0:43.48
ZF 50m B Bl BE |4 t~vrwmssre| TH 0:45.09
ZF 50m BHE B R |1 reowEsse| 8H 0:43.83
ZF 50m )25 ME EE |srvrwEbssr| 8H 0:37.54
ZF 50m B He #% |« rvrwmEesre| 95 0:36.00
ZF 50m )25 RIR F1Y |1 rvvwmaEesre| 108% 0:35.46
TF 50m =Ef=zz5i el E=E |4 rerwEcsqr| 105 0:36.00
nF 50m ===}z K R |4 revwmEas Rl 108 0:35.87
ZF 50m B ME RE s tvewEesrr| 105 0:32.85
TF 50m =N=zpi TN M |4t wEasqE| 105 0:32.61
ZF 50m B hkEE kE |4 r~owEesE| 11K 0:33.44
ZF 50m BHKE & BOP |MbevEEAsE| 8K 0:48.73
TF 50m ok E BE EE |(r~rwEbssqE| 8F 0:43.11
ZF 50m BHKE TR Al |4 bevEEAsE| 8RR 0:42.13
ZF 50m HkE AR D |MrvvFEssE| 9K 0:45.40
TF 50m HokE BRIk F |4 r=vmEas| 105K 0:42.90
oF 50m ok E BE ME |4 revwEasrr| 105 0:39.01
TF 50m TokE LWHE FE (4 r~rwmEasqr| TR 0:47.59
ZF 50m Tk E HHE ER |1 rvrmEasE| 9 0:51.95
¥ 50m ok E el FEE (4 revwmEasrE| 105K 0:45.77
LG 50m NRT54 A0 FES |(twvwEasre| T 0:50.12
ZF 50m NRET7Z4 A ORRR |1 btvewEes | 108% 0:39.58
ZF 50m NRT7 A4 TN g |1 tvorEas | 108K 0:38.47
ZF 50m NRT7 A4 thkE xE |1r~rwEasr| 11K 0:36.73
nF 100m BAXFL— HIIl 8 |1 r=rwEdr5| TR 1:52.35
ZF 100m | EBAXFL— | E ZEE |[(tvr#wEare|l TR 2:01.43
ZF 100m | BAX FL— | FBE K |[1tv#Ess5 8 1:51.73
ZF 100m | BAX FL— | & B [«bvv#mara|l 8K 1:43.03
ZF 100m [ BAXFL— | ¥R KM |[«ter#Eassl 85 1:33.50
F 100m | A X FL — HH EI |4 rvrwEesE| 9B 1:41.18
ZF 100m | EAXFL— | HF #k |[1bzr#Earel IR 1:29.76
F 100m | A X KL — A& L |4 revwEesE| 95K 1:38.43
zF 200m BAXFL— H #E [«r~r#w@darsel TR 3:31.89
BF 50m B/l HE k8 |1r~xrwEdre| TR 1:02.23




36
37
38
39
40
41
42
43
44
45
46
v
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70

KE%4: #mRN7Ray 7 RTARES
B 2024/2/11(R)

TR PR EH K4 i F i FLE%

v 50m B WA R |4 rvowEasqE| TR 0:40.80
B 50m )25 k2l =K |« r~rwEass| TE 0:44.80
B 50m BHE WE 2 |4rvewEasE| TR 0:47.83
B 50m )25 KIFE BE |(rvewaess| TR 0:57.40
B 50m BHE e & | rvvwEesE| 8% 0:41.29
B 50m BHE T AR |ArvrwEssE| 8B 0:36.11
2 50m Ehz:fiz =H =i |1 rvvwmEacsE| 9 0:35.12
B 50m BHE BeO #% |4rt~vowEarE| 9% 0:36.79
B 50m BHE I $EER |4 bvvwEAsE| MR 0:40.58
2 50m =Ef=z5i F¥E E 1 r=rHEase| 108K 0:34.56
B 50m B —AK BX |4tvrwEasre| 108 0:39.23
B 50m B HO % |« t~ewaEere| 115 0:32.52
B 50m BHE L KR |4 r~vFEasE| 11K 0:32.58
= 100m BHE HO 3RME [« bevsEasg| 1R 1:12.29
2 50m EokE FXE 5 AESZ T 0:45.48
S 50m BokE £H Mt |[4r=rwEs-E| 8K 0:52.42
B 50m Tk E F# AlK |[1r=r#wEasE| SE 0:40.82
BF 50m ok E R EA |1 r=rwEassE| 105 0:39.74
BF 100m BHKE +TH MA |MrwrwEasE| 11 1:20.97
B¥ 50m Tk E HBE K& |1+t~xvwEare| TR 1:17.87
B¥ 50m Tk E FXE 5 AESZ T 0:54.35
BF 50m A S T DY N I N2 = == I 1:01.26
B¥ 50m Tk E wWe = ESZ T 1:00.78
B 50m Tk E AIFE BE |Mr=xowEase| TR 1:08.57
B¥ 50m Tk E EFH & |4 rexvmEA Rl 8K 0:46.23
B 50m Pk E £H it |« r~vowEasE| 8 0:58.10
L2 50m Pk E W R |4 rvomEase| 9B 0:51.03
L2 50m ok E —k BK |1rvrwmEese| 10 0:49.89
3 50m NRT7 54 el &K |(«rvvwEess| TR 0:51.24
3 50m NRT7 54 HE BN |1tvrwEas| 108 0:40.92
B 50m NRT7 54 EE B |4tvrwmEssre| 105 0:39.17
3 50m NRT774 N BAX |4 revwmaEese| 105 0:37.96
3 50m NRT7 A4 +H A |ftvrwEasE| 115K 0:35.54
5 100m BAXFL— g E |1 rxvEEease| SR 1:40.96
3 100m | EAX FL— | BH K& |[(rxrwEars|l 8K 1:32.29




ARI7 0y 7 GETARES

RKE4:

B 2024/2/11(8)

451 PEEE == K# FrlE F i 0%
71l B 100m BAX KL — = =B |4 revwEess| 95 1:26.54
721 B 100m BAX KL — EyO ¥ |[1re~rwEess| 9% 1:33.11

73




